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: g s (|+,)(;..,r)_ 25 -'(Tm_)_ S S e N : %._ AL T . =
i 3| 41 @+D(B-2)=6-4i+3i+2
= i (another root) ¥ -0x+1=0 £ =3-i (8,-1)
(@ b)=(1,0) ar'+bi+1=0 8
o3 f47,f-2+2;] aV4+4=22
26'(3_.‘.)'(“%9“ [a=1] m} g |2-3il=VE+9=13
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j4+43i]=16+9=5

53, Note 7 i) i‘enuuwmy-ﬂtheprmpa! :
mdq:h-tcxg:sx.(-:,:} :
i) Forz=0 the arg z is indeterminate. :

59 *+é®=cos B+ IsinB+cosB—isinB=2cosA

-

= (cus 0+ 7 in 8) ~ (cos - i sin G)IHZI{iy'O ;

6L zg~5=a+ib+ a—ib=2a (in real axis)

=(20) +(-2 0}’ i i
=16w‘)+l6m‘ ; 1+o+e'=0 o'=1 gEu- Lo Teys=mGE ¢
= 3 1+0=- ; :
=16 (0 + o) lalssa ¥ 45,(m8cosﬂ+isin2£’
o+ot=-1 3 ;
29. (I-0) (1 -0") (I-0") (1 = ") = (1~ 0) (1- &) (1~ ©) (I- &) Hrr Z
) 4 H48.Z+2Z= = L=
=“_w)2(]_m.)1=[(l _m)(l__ml)]. 5 8.Z2+Z Z+Z ZRQ(Z) . [Z Z
=2_m_&)2'= 2- (o+ﬁ)z % {
I[z ( l)’] I_li—l( : | e : !
30. ¥335= i35 .-[H=i . i R xzr+(’1-h)1 r - 3 I
i ; ; =5 + () = =z rmpef —ena
gaaaa oaprel Alxnim) 2}/ B(xn 1)
: s .. IFAP = PB then the locus of z is a
3.0 +E' 3 [05} o i perpendicular bisector of the line joining LT E
T : : sandz, ~ where [z =x+ iy S Yoo
age 3,0k25. | e paenil -
FACET 208 4,062 : Sl
Lim (04568) 221778 One Mark Questions for +2 Mathemanics 46 * Lini (04566) 221778 One “Mark Questions for +2 Mathemalics 47

Us - Email ID: padasalai. net@gmall com

Kindly Send Me Questions & Answers toL


https://www.padasalai.net/

= ey o

=y T

, Choose the correct answer (Multiple Cholce Questions)

Footgt,Pa0e 2 of 35,4

Mark Questions foc+2 Mathemlics 48 =,
Lini (04566) 221778 o

3. The line 4x+2y = cisa tangent to the porabola y* = 16x then ¢ is

7. The length of the latus rectum of the parabola whose vertex is (2,-3) and the directrix

9. The vertex of the parabola x* = 8y - 1 is
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L. Book Questions
I Theaxis of the parabolay? - 2y + 8x~23= 0 is

o g A R

(March '12) '

b1 ok o

10, The line 2x+ 3y +9=0 touches the parabola 3 =8z at the point  (Marah 06 & March ’IJ)

af+3] 939

0 o,_‘.)

X
3 y
Pari-1 Part-11 | Part-TII ke
Blue 1 Mark 6Marks | 10Marks | Total l
No. of No. of | nae o o| NO.OTY g ke Marks ﬁi :
Print Qus. Marks Qs Marks e B
4 4 1.1 16 (3. ]3| 40

rpn ety BT

* (Sep '08, Mar 11, Sep 12 & Jun "13) 3

wy=-1" byx=-3 S)z=3 "gy=1 i
2. 16¢'=3y* - 32x~ 12y - 44 = 0 represents (Jun '08 & Sep '10) #] -
a) an ellipse b) acircle c) a parabola d) a hyperbola i

; . .. {dum '09, Mar '10, Mor 11, Seg;13 & Mar15) |
a)-1 b)-2 oY d)-4 \_;;
4. The poml of intersection of the lang:ms at fy = tand £ = 3 to the parnbola Y =Bxis 1},
: (Mar *08, Sep '09 & June '14) '55

a) (67, 81) b) (8, 6) o, 4) dr) - 2
5, The length of the lu'.us rectum of the parnbolay? = dx + 4y +8=0 s f‘

3 4 4 (Mar '07, Mor *09, Mar '14 & Juns'15) : .
a)8 b) 6 4 d)2 !

6. The directrix of the parabola y? = x + 4 s . (un'10) 7|
18ci T |k 11 i

n)x-‘—:- bx=-t gr=-1L gxe- |

x=4is (Sep '07 & Mar '16)
n)2 b)4 | c) 6 d)8 il

8. The focus of the parabolax’ = 16y is (Sep '15) ]
n) (4,0) b) (0, 4) * ¢)(-4,0) d)(0,-4)

4l

v A =|-.}’¥."¥:W~QB§\EHW parooin y = 14! iersecton e ine

[ 4. 306 Ul

STs=3u0 pyx+3=0 c)y+3=0 d)y-3=0  (Jun'07 & Sep 1)
12. The angle between the two tangents drawn from the po int (-4, 410" = l,& is (June ‘08)
ﬂ) 45° b) 30° C) 60° d) 90°
= =0i {Mar'07 & Sep*
4 IJ Thu eccentricity of the comc 9.‘1 + 5y - 54x - Aly +4I e d(; -2’- 2
07 i 97 5

S . The lcnglh of the semi- mnjor and the length of the seml-mmor axis of the ellipse

Ll LRy
T e

2)26, 12 b) 13,24 ¢) 12,26
15. The distance between the foci of the ellipse o5t + 5/ =180 is
(Jun '09, Jun '12, Mar 13, Jun °13, Sep ’13 & Mar '19)
a)4 b) 6 c)8 d)2
16. If the length of major dind semi-minor axes of an ellipse are 8, 2 and their corresponding
cquations are y~ 6 = 0 and x+4 = 0 then the equations of the ellipse is

d)13,12

. The locus of foot of perbendiculaf from the focus to & tangent of the curve
1672 +25/ =400 is

)X +y=4 b)x’ +y* =25 )P +) =16 -
21, The eccentricity of the hyperbola 12)% ~ 4} - 24x + 48y - 127 =0 is

(March '09)

a)4 b)3 ¢)2 d)6

22, The cccentricity of the hyperbola whose latus rectum is equal to half of its conjugale axis is |

: (Jun "06, Jun 07 & Mar ‘15) j‘
3 3 5 t
a — — — —
) b3 9 )
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(Sep '09, Mar *10 & Sep ’15)
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2 2 6
atay -6 _ 0 (x+4)’ st
e 16
17. The straight line 2 v—y+ c=0isa tnngent to the elhpse 42+ 87 =32ifcis
(Sep '08, Sep *10, Mar '12 & Sep °12)
)£2\3 b)£6 ¢)36 d)t4 :
! 18. The sum of the distance of any point on the ellipse 4 + 9); =36 from (‘E, 0) and (—\E: 0)is ‘
: {Mar "06 & Sep '09) |
a)4 b) 8 c)6 d)18
19. The radius of the director circle of the conic 95 + 16y =144 is
(Sep 06, Jun 08, Mar 11, Sep 14 & Mar *16)
0 V7 b)4 03 “d)s
20

|

dxd+y=9 .


https://www.padasalai.net/

www.Padasalai .Net

i 23 The J. distances of any point on th hyperbola ® —’i =1is '?A :
"z'ﬁ.% A
e ecce c1ty ls en
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- 34, The co-ordinate of the vertices of the rectangular hyperbola xy = 16 are (3ar '07.4& Sep *11)
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(Mar '07 & Jun ‘1 ” a) (4, 4), ("' 4,-4) b (2,8),(-2,-9) ¢} (4,0),(-4,0) d)(8, 0), (-8, 0)
a) 2 ~— = ) - -—— ot =1 - =] 35. One of the foci of the réctangular hyperbola xy=18 is (March "09)
e W 12 126 i g b)3.3) EY0) 0.5 .
The directeix of the hyperbola X' ~4(y~3) =16 s (ar *06, Jun '09, Sep ' & Mar *16) | ol Lol
=38 bl N5 3 36. The Iengﬂ\ of the latus rectum of the rectangular hyperbol y=3is EEL S
S VAT y=to- e _ (Mar '08, Mar '10, Jun ’I1, Sep *14 & Sep '15)
20 e '"\e Sx—2y +4k=0i i atangent to 4 - 7 = 36 then kis (Sep 06 & Jun *15] o) 8V2 b)32 98 a16
9 ; b)—' c) ’4_ z : d) % 37.' The area of the triangle formed by the tangent at any point on the rectangular hyperbola
44 . y = ¢ { < ¥ L} 5
26. ’ljhe equation of the chord ofcontact of tangents from (2, 1) to the hyperbola f_ e _}i = xp =72 and its asymplotes is . (Mur *11 & Jun "15)
is ? 4 im "13) B a)36 by I8 .9 72 d) 144
2)9x—8y~T2=0  b)9%x+8+72=0 c)&x-Y- 72 =0 d)8x+9%+72=0 4 38, The normal to the reciangular hyperbola xy = 9 at 6,1 meets the cm;e ng;x;n ;\5 5
5 un e
— 27 Theanglebetweentheasymptotesto:hehyperbolai-i=1.s n)[_m], e S/ L [_3‘-‘3 s QP"}’}“" s
(March 08, Mar ’12 &Szp '13) g} ] 8 A 8 8
' Zi 8l 11. COME Book Questions (PTA Questlons,
Dz 2 [%] U [%] it [%] 42y [%] E Th f the parabola y” = 4x i Fr
4l 39, The axis of the parabolay’ =4x is
2 —25x* = 2
28. The nsymGptotcs of the hyperbol:; 3.6) : 25x°+900=0 are3 4 = il =0 byy=0 i) dy=1
a)y=i?x b)y=:tzx c)y=t—2?x > = 06 £l 40. The vertex of thiz parabola y” = 4x is
29. The product of the pergendxculurs drawn from the point (8, 0) on the hyperbdla to its '\ a)(1,0) B)(0, 1) 0 (0,0) 8 (0,-1)
asymptotes is _x_ = ;—6 =1is (Jun 10 & June '14) . 41. The focus of the parabola y? = 4x is R
) 318 Yo o -d)% D(O,1) - v, (0,0 & Q1,0
576 25 25 e sk 3
30. The locus of the point of intersection of perpendicular tangents to the hyperbola 42. The directrix of the pmbolay’ dxis
1 a)y=-I1 b)x=-1 oy=1 d)x=1
i._ =1is (Sep '08 & Jun "12)
16 9. = . 2ok Rae3 Bdizar 43. The equation of the Iatus rectum of y* = 4x is
) +y =25 b)x +yt=3 c) ; 's i ':-; ;’ = B Byt ek it
ith totes x + 2y — -y is
ot cccentnclty T 4 (Sep 06 & Sep .07') s} 44. The length of the LR. of y* =4xis
)3 .2 B d)2 a)2 b)3 ol a4
32. Length of the semi-transverse axis of the rectangular hyperbolaxy =8 is 45. The axis of the parabola x* = -4y is
(Sep *10, Sep *12 & Mar 'm a)y=1 b)x=0 c)p=0 d)x=1
— 2 by c) 16, d8 | 46. The vertex of the parabalax® = -4y is , e
33 Tém tes of lar hyperbola xy = =ctare (March *13) a) (0,1)- b) (0;~1) - c) (1, 0) d (0,0)
T_:b.xilc y‘Eogge ? gu © cx=c,y=0 d)x=0,y=0 47. The l'ocusoﬁhepambolnfr...qyi,
i 2)(0,9) b) (0.-1) ) @,1) 9(1,0)
WS BITE One Mk Questins for +2 Mathematcs 30 1| - L (04366) 221778 One Mark Q@ Tor +2 Mathematica 1
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48. The directrix onh:m\;zl\;V}N-.P?C_iaSalaLNet ﬂr www.CBSEtips.in, .
! H ﬂ):rI; 1 g swb ¢ ',5 Fl 64. The equation of the major and minor axes of -J-;-+ g = [ respectively are (June *06)
c)y=1 . = () gl 4 =
Il eagqnc “‘la‘.‘ggn‘lof?hflg& 'of.t'--'ly is 5 e t'i , B L c).!=0.?v=0 greer
i DRSS b)y= | Ox=l . , i 65. The equation of the major and minot axes of P +3/=12are (Sep '03)
§ § = . = il 5 .
} 'so.m]g“mhl_"n.orxl__dyis )y=1 is ;, II)I="JJ-.)’-2 b)x=0,y=0 c);:.{}jys-z J),y=0.!=°
| i ' A
i i : b)2 - )3 dy4 51:5 66. The lengths of minor and major axes of T*"%‘“lm
j SI.Thel.xisoffhﬁpmboliy’-_Bxis gi 1)6,4 b)3,2 c)4.6 - 123
.. a)x= = . al £ ’
! T e ©)y=2 dy=0 g 67. The lengths of major and minor axes of 42° + 3y’ = [2are ¢luse 07
e L] ' Ot 942§ 02 92B.4 a2
: a) (0, 0) b)(2,0) il 4 ;
L. 22,0) . ©(0,-2) 4@2,-2) é | 68. The equation of the directrices of T +-— =]are {Sep'13)
5 53. The focus of the parabola * = - 8x is i 4 16 : 16 d) -
: 5 el -t =t =t
: : a) (0, -2) b) (0,2) €)(=2,0) 0,0 E a)y=4= T byr=i f Qx=t y 5
4 o %l & ,
: 7 54 Thecquation of the direotrix of the parabolay® = 8 is - 5 <E| - 65. The cquation'of the directrices of 25"+ 9y =225 are. =
_ a)y+2=0 b)x—-2=0 c)y-2=0 ~ d)x+2=0 *, n)x=:t;‘!:‘ > b)xs;t-z;s- c)yai—z% d)y=tT
g 55. The equation of the latus rectum of y* = — 8 i ; i o i g
3 = y * ls_ : il 1 70. The equation of the latus rectum of I+ —=lare (lar 19
1 a)y-2=0 b)y+2=0 )x-2=0 dyx+2=0 1 i e yx=+7 dy=+7
i =+v7 byx=1% €)x= =
56. The length of the Izm;s rectum of yz == Bxis ; . 5 =
£ 28 - E35)6 S “d)-8 30 71 Theequion ofthe LRs of 255+ 9% = 225 are
# . | A a)y=15 byx=25 Qy=i4 o
i 57. The axis of the parabola x” = 20y is ; i i 2. gt
i ; ay=5 b)x=5 x=0 d)y=0 . 72 The length of the L R.of -I‘—G+ el
i 58. The vertex of the parabola x* =20y is : J - a) 3 b).z.. <) £L ! d) —‘56-
. 2) (0, 5) b) (0, 0) ) (5, 0) d) (0, -5) 3 ; 2 3 s : 16 j
o by : ' 73. The length of the LR of 25+ + 9 =225 is
59. The focus of the parabola x” = 20y is : < -9 3 18 25 . st
20,0 . DGO 90,9 95,0 | o o 'y T8
‘ 60. The equation of the dircctrix of the parabola x? = 20y is 74. The eccentricity of the ellipse ;—5 & A lis
i el - ~5= dy+5=0 :
I;.;\ a)y-5=0 Bz 30 g0 o Nt b 9= Qs
2} 61. The equation of the latus rectum of the parabola x” = 20pis g . 7 :
” g)x-5=0 b)y-5=0 c)y+5=0 d)x+5=0 i 75. Th:'efccnlricnyoflhee}li‘}:_s.e—4-+ T“lls H
if ( : 3 ) 2 3 2
,5 62. The length of the latus rectum of the parabola X =20yis £ AT b) _Si S Dy
i d)4 ¥ : ;
2 2) 20 P b):10 ] e | 76, The cccentricity of the ellipse 16x' +25) = 400 is
i DURL BA9G: Feigaris 2.3)one ofth foc s 3, 3)then the other focus s ks b< 9+ 0
{ 1(13) b) (-1, 3) 0 (1,-3) d) (=1,-3) 31 5 5 4 5
B = (NM)' T 2 : Gne Mark Qucstions for +2 Mathematics 31 Linl {4566) 221778 One Mark Questions for +2 Mathemalk
¢ 0 3 i 4 i w
: : : Kindly Send Me Questions & Answers to Eis - Email ID: padasalai.net@gmail.com


https://www.padasalai.net/

f

Lass (04566) 221778

: Kindly Send Me Questions & Answers to Us - Email ID: padasalai.net@gmail.com

1
A TeeRacasalai Net _www.CBSEtips.in e
- Header Page 5 of 25. Y :
77. Centre of the elhpse—- +—m]is - ; 7
TG 25 9 - 91. The equations of the directrices of the hyperbola 16y 9 = 144 are
) b)(s;o) 2 €)(3,5) (0.5 - * ,),.‘.1-:- b)y-:t% :)1-1_9_ i d)y-t—:- i )
78. The centre of the ellipse oL, lis (' bs )’
o e 4§ 92 Theequations ofthe L.R's ofthe hyperbola —— = = | are ;
Sis “2 n,s - ©(0,0 90,0 ° 4  my=x13 b)y=£i3 Srms13 9r=£V03
. The foci o]'lhe clhpse E + ?= | are i 93. The equations of the LR's of the hyperbola 16y - 9¢" = 144 are :
| a)(0,£5) "b)(0,%4) ) (£5,0) | d)(£4,0) ).‘l a)y=+£5 b)x;ts : C)]’i"s-' d)x-t{':_
_ ys :
i : N . : ; 94. The length ofthe L.Rof —~-—=11is
80. The foci of the elhpse '4—+ ‘?= 1 are (March "08) ‘,;" ' 39 4 . 3 9
i 4 i ; 3 a2
a)(x5,0) b) (0, £5) ¢) (0,£5) d) (15, 0) " n) i 3 i ° 2 ) 4
81. The foci of the ellipsc 16x% +25)* = 400 are 3 = Th;:ccennmry o e 9 2 L A7
a3 D02 90 95,0 f i ; "" Fan 2w
— — Ly oo i, . =i -2 1} = — :
82. The vertices oflhe clhps..- E-ﬁ— =l are 5 2" 96. The cerire of the h}'Pﬂ'bOh 250 - 16/ =400is
9 18 3
a)(0,+5) b)(0,3) 95,0 3,0 { 202 ek et e
83. The vertices oflheellipsei:h+-)g— =] are : 975 The foci ofie b'a-;—zgi % -
0(03) b (2,0 93,0 90,42 20,4059 pee e SEben
84. The vertices of the ellipse 16x* + 25 = 400 are c 3 <] 98. The'vertices of the hyperbola 25x* - 16y = 400 are
(0, +4) by (25, 0) 4,0 DO,£5) - i ) (0, 4) . b 4,0 )(0,£5) d)(x5,0)
85. IFthe centre of the ellipse is (4, ~2) and one of the foci is (4, 2), then the other focus is §|; 9. The equation of the tangent at (3, ~ 6) to the perabole = 12x &
94,6 b)(6,-4) 9 4—6) a6 7 Mrrdl s e O T
; SRl 100. The equation of the tangent at (3, 1) to the parabola 2 =9y is
fthe hyperbola=—— == |
R e e o S aeres 0d oS el ol e B T 9Ix-2y-3=0 b)ZA-3p+3=0 )2 +3+I=0 Qixty+3=0
ayx=2y=3 b)y=0;x=0 )x=3y=2 d)x=0;y=0 ; :
: 101. The equation of chord of contact of tangents from the point (—3, 1) o the parabok
87. The equations of transversc and conjugate axes of the hyperbola 16y* —9x = 144 are Fatih L
A)y=6x=0 . b)xr=3;y=4 c)x=0;y=0 :)y:;;’;: 0)4r-y-12=0 b)dx+p+12=0 c)dp-1-12=0  d)ép-x+i2=0
8. The equations of transverse and conjugate axes of the hy}o)erbula 14—"1.5.-3 |2_(," “:",06) 102. The equation of chord of contact aflzngenlsﬁ‘mﬂ.l)bﬂzciﬁmh’i-s_f'.mk
a)p=Ox=0 b)x=1Zy=5 ) k=0y" d)x= .y: o . 0)x=-3y+5=0 b)Sx-y+5=0 c}x+5y-5=0 d)Six—y-5=0
29. The equations of iransverse and conjugale axcs of the hyperbola SEt 2lea 103. The equaiion of chord of contact of tangents from (S, 3) to the hypertola 4 - 69 =24 5
“r=nZy=Vi  br=VZy=22  Qr=tiy=0  d)=0ix=0 e 0%
9‘0.‘Tbecqwiomonh:dinmﬁcesoflhchype:bola—::-——;—-lure - )9+ 10y+12=0 b)lr+G-12=0 )% -10y+i2=0 d)lar—F—12=2
3 S ptomart e 0% 104. The combined equation of the asymptotes 1o-the hyperbola 36¢" - 25 = 900 is [
alr-t{{—z T "’E':F Wi 8)257+367 =0 b)36&I-25'=0 IGT+25=0 )25’ -167=0 i
L nno ‘One Mark Questions for +2 Mathematics 34 ] Lint (04566) 21778 Oz Mark Questoes far +2 Maibewanics $§
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(Jun *09, Jun *13 & Mar '14)

Hedder P : | 114 The condition thatthe tine fs+ =0 egbe amormet o “(‘}P:*;,h)gw-mis
1659 Gfe .ﬁgpife.ze'i. the nsympl;l:! of the hypcrbnll 24}‘ 8y} = 27's o : } ayal+ 2alni+ nin=0 b) -F-+ i T (March 13)
l} 0T by 9 e 3 4 u P %-%,&L“Tb’ﬁ
106. The int of contact of the tangent y = mx + nnd the parabola ) = dax is (Sep 06 1) "W n” : . 4 -
f P: ;a i ;a i it a :m ~a -la 41 115. Thechord ,of contact of tangents from any point of the directrix of the parabola )7 = 4q
! a) [’;,z" ',T] b) [ T ,,,] Sl £) [;,' ’;;J 9 [m m 4 passes through its Sy
! . - oy . & 2) veriex b) focus c) directrix d) latus rectum
: 107. The point of contact of the tangent y= mx + ¢ and the ellipse — +===1is il . : et .
& (sgp 0& Mar'll) . The chord of contact of tangents from any point on the directrix of the ellipse
' o [.li 1"'_'] b) ["’——"" & 5 [_'2 :b_’} 4 [——"' .—'—”1] Z 4 Lo passes theough its
i c'e¢ el ey A 5 b o) vertex " b)foens © c) directrix d) bius recum !
b “ 108. The point of contact of the tangent y = nx + ¢ and the hyperbola ':T = ';{= lis . The chord of contact of tangents from any point on the directrix of the hyperbola
| =y o - o - = o 2= 2] S =
am:ro LBl Gl =0 =i Z :
c c @ c o directrix d) latus rectum
I : : a) vertex b) focus °) .
i {02, The trc giatomests ol G IoNRG AR . . The point of intersection of tangents at 4, and ‘#:” to the parabola Y =daxis
i

TR

(i) Two tangents and 3 normals can be drawn to a parabola from a point.
i (ii) Two tangents and 4 normals can be drawn to an'ellipse from a point. 5
H s a(h + 1 ar’, 2al d) (atyty, alt, - & e
I (iii) Two tangents and 4 normals can be drawn to a hyperbola from a point. g)an+m)ann) b (anman+e) o ) - ) (ahty, alti - )
: (iv) Two tangents and é normals can be drawn to a R.H. from a point. . Ifthe normal to the R.H. xy = ¢’ at *fy’ meets the curve again at ‘f,’then 6= (June'03)
e = &2
] 2) (), (i), (i) and (n) by @), Gonly  c)GiD), (Wonly ) (), (i) and (i) ol b)0 c)-1 ) .
g 120. The locusof the point of intersection of perf Jicul genis to the parabola y* = daxis
,’T‘? 110. If'y Vig,? are the extremmes of any focal chord of a parabola y. =dax then fhlpis : P L i
a)—1 © b)o . el - L (March h) b a) latus rectum _ b)directrix  c) tangent at the vertex  d) axis of the parabola |
= 2 |
l : 111. The normal at ‘1’ on the pambolay’ o 4ax meets the p;u'aboln at'ty’ then [,I A __] is 121, The locgs ofllhe foot ofperpcndu:ular from the focus on any langenl to the ellipse
; S+===1lis
L - __ ’ '’
i (% b) ¢ O+ d) (Jun '10 & Mar’l i
_' W=t i Dt 2 a)r"yz- g pRiped Of+i=d+l | dr=0
112. The condition that the line &z + my +n =0 may be a normal to the ellipse =5 +7,2= lis * §f5 122, ’I;Jhe )ocu; of the foot of perpendicular from the focus on any tangent to the hyperbola
34 < 2 2 2 22 1 54 .
i ’ a b (a’ +b) Sep'12) X X =i
o n)az’+zalm’+m’n-=0 L)t e (Sep'12) 3 SR
: 4B @b B w0y : Qi+yed-i R =d Qf+f=d i+l §x=0
if ) -F+ ;F e ) T " o123 T"hq locus of the foot of perpendicular from the focus on any tangent to the parabola
! 113. The condition that the line fx + my +n =0 may be & normal to the hyperbola Y, ey (June '12, June "4 & Sep 'H)
51 ] i:l'is 4 : ; . &)+ ra -0 DR +y=a O+ =a"+ B ax=0
(il P . i, s (' + b ~} 124, The locus of the point of intersection of perpendicular tangenis to the ellipse
i ayal’ +2alm* +m'n=0 b) Tt = : FAD T ;
i oo SRR o G s 2 ; CX
Do e D o g wrey=d-B wlti=dd | afef=der o el
Lt |- Gewsea s e
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IZH %qw pn{m SLumcﬁon of perpendicular tangents 10 the hyparbola
‘;‘r- %' 1is
syl Vo ey ed . gleye a’blﬂ dx=0
’
126, Tha condition thin the Hine Ix % mH 7% 0wy be o tungent  tlie parabola y/ = Aax
i ~ "w

WAL 4 Py ot ban st df i wr &y adin =
127,71 Iw canditfon thit the line x # my + n= 0 may be 4 1ngent w the ellipse (June '1%)
Aing: -
"," ' s i (June '13)
Nl +Biiard  Wowmtn © GP-Prdd Hamedt
124, ‘Hw conditlon that the lina I« + my 4 1 = 0 may b n tangent 1o the hyperbola
”T i !y ,
wa W b e byand = In eyl =t =i d) A Im = rf

129, " condftion that the line I + my+ n = 0 muy be a fdngent (o the rectangular hyperbolu

o
ey : (Mureh '13)
W a4 Wl et by an’ = In Ol =P wi d) 4t tm =
130 Tha foot of o parpandicular from a focus of the hyperbola on un asymptote lies on the
") tenle b) corrasponding directelx ) verlox d) LR

L. Addittonal Questlons .
131, ‘The normul ot the polnt *1;* on the paraboln meets the pariboln y = dax again ot 1/
then = = :
! | / : 2
W h) u)l )t 4=~
h ' h
) M

132, The tangent nt any polnt I on the allipe ;" { = | whose centro C moets the mujor

"N In the peepandieular to tha mitjor sxls then N, CT# Deleddon (Sep '07)
b) 3 ) a)6

. ¢ . a1 ” .
139, 1 the normal o the ennd of the It rectum of the ellipte ¥4 3y w12 infersect the major

axda at €1, thon CC I Z 5
16 12 W )
n) = b) === €)= d)
) i i} 3 3 p
1"y and ¥y are the foci of the ellipye <=+ -4—» |

Deletton— (Jun 06 & Jun '07)

ks ot 1 and |1

i) VYo

134, 100 ond 1Y e the andy of the minor axls,
then the aren and Fy 1 9 L]

o “‘II:‘{:SJ?,:' Page. + Cf 25- Qe Mark Questions for +2 Matliematios 38

MR SELinS i
r
} |
;«,’ 135, ;i::;qp;::,ﬂnw-{-i-l.m«M¢réwumi
; OPis : Delefox  {Jane "85y
? 036 86 ci4 92
4 :
:' Nodngwers 5
} ONe. [ Ans, | M. | Ams. | ONa Ass | GeiAne [OXe [Ans | Oe fAms] . -
1 ]d)l2z{bja1|b]lm|b |9 ) ne| b |-
4 2 {dl2slc|asfelnlc il ]| usle t!
7 3 d 2|3 Hibl7nnia 951 ¢ s ] b :
4 |al27)lec |0} d)73|b|9%id}u|e ‘(
; 5 |ci28|b |51|di74}d ] 973 |1e|b
¢ 6 |c|29]b |s2f{aj75|a)]9%Bib|m|b}|
7)d|3]d|5}c|7|b]991d }jaz|b
/ 8| b |3]|b | 54|bj77|a|[mic |1n]|d
vi 9 |ec]32]|b |55]d]|78|c|t0i}a |nafjeir
‘ 100 g | 33)d]s6|aj7m|d jw|ec|isis
; 11| p | 34|a|57]c|so|b|m|d|n|b
12 |4 |35)a | 58)b|s1|a jrws|db|n|a
B p|36]d|59|c|s|c|mwfc|ns)ec
14 [d | 37]d | 60| d|[83]|0 |16]a |ne|d
150 ¢ |38}¢c|61|b |8 b jwr|b|ume|b
16 | b | 39| b | 62| a | 85]¢c |18]c | 31| d
17| b | 40| ¢ | 63| 8 |8 |b |1w9}|d|m|d
Bflc|a|d|es|c|87|c|mfa|m]e
19 | d | 42|b | 65| b |88]|a|m|a|g]b
20| b 43| a 66| € 89 | c mijec 135 ¢
‘2 | ¢ 44| d 67| al90}|d 1m{ d
22 | d | 45| b | 68| b |91].b | 14]a
23| a | 46| d | 69| d |92 (d|S|b
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i

MO et

Kindly Send Me Questions & Answers to Us - Email ID:

padasalai.net@gmail.com


https://www.padasalai.net/

i
.

EOAR IO

e

_ . ww Pﬁ‘ E.zsai ai.Net

i tiér m;’ﬂ)8o : :
\_yl:l;r:%ll_’/‘l +&x-g];g§"
o= l)"a_ax+24

% (}'- l)zn..s(x_.3)
Y?= - 4ax .
axis- X axis = Y= 0

y=1=0

.

Y
X
o
X=x-3
Yey-1
x Y:"’-4ax a=2 i

224

ip pim(xedy WW BSEtips.in A
" yredax © | X=x+4 ;
' 4a=1 i
=L |

=a= :

directrix X =~a é'
x+4=—%—_ o

XD o ——

. From this diagram a = 2 units

Latus rectum =

. =16
£ =day
4a=16
a=4
< F(0,a)=(0,4)

P =gy

) x1=8[--1—]
8

X'=4ay
X=x

Here Y= ._L

¢ J P

4a=3§

V?ﬂﬂ\l(o'O)

el x=0;Y=Q

x=0; -.‘_;_-0

y Y 2

.X=0; ys%

3 168"1*03}:_3)’;_32‘-‘2),_“‘0 Note:
+2 r - i = T
a=16 h"32h :); 1 23’;:12'2 TR (i) IfA* = ab It is a parabola
: h=0- ] 5 (i) If A® > ab It is an ellipse
K=0 ab=—48 (iii) 1€ #* > ab It is a hyperbola
W¥>ab V) It >ab&a+b=0NisaR M
" "0 >—48 (is a hyperbola)
3. 4r+2y=c #=16c 4 y;=8x =3
J'="7"‘+_3- yfgm o ’) -_-;ax :
2 e :
=mx+c . 4a=16
“’h{;é m=— [a=4 P(xhyl):(Grl-Sl)
e ;
condition for the tangency
e= e yz =4ax
m
gt )
o The point of intersection of the tangents
* [Py, y0) = lati tyy oty + 1)]
% =0
5. J.1+4) —-4,\'4-81 :
2 +4y+2’-2'-4x,“' 8=0
o Xe=x-1
01+2):=4X"4‘) Yﬁy-}-z
r+2)y = 4(x~ e
Footortagk 8 of 2t [4a=4] Lawsree
§ "_-__________.__——4—"‘—' 7 One Mark Questions fw'+1 Mathematics 60
Lo (04566224778
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10. 2.\‘+3y+9=0 Pt : -

*-" Touching point
egtfé‘] ﬁag 95(1;2;5

P(X{, yl)“ [—"- » AE.).
y=mx+e 3 m m
=€  2a
3 [m'm}

U gnyafiz e

A he _4_’—1]~
; () oy .

9

P("l:)’l) == "‘6]
2

2 a=2
‘Where ’"=TA : 5

c=-3

-~

@7
~L

10,y =12¢ i 7
Va=3 [lmersect on the lirie be the m 4
x=-a °q : J )
‘x=-3 +3= \ I E
. e
Slje ey : v
> 7 bl f -
12. Note: X=—a
The locus of the point of intersection of 2!
perpendicular tangents to )* = 4ax is its directrix i 5
LSRN V= dax-
(i) perpendicular = l:. \R
: ; = : &
(ii) point of intersection [P(x.. w) = lann, a(t + 'I)L‘ v
x=-a
(iif) directrix
13. 9t — 54x + 557 —40p + 116 =0
o — 6x) + SOA - 8y) + 116 =0
([i 2 Geb3 e 32]+5|!F 824-42 —4]+116=0
\.i___/ Sy o
9(x—3)* - 81+ 5(y—4)’—80+116=0 . oo g 9

9(x —3)* + 5(r—4)’ =45

Footetﬁaﬁagxaﬁé& el

'3 ] a=9
B 03

ath
Lant (D4566) 221778
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2
=2x3 £l e
TR
[0'=9 ; B*=4 (-\5.0)
: . 2ok
. Divided by 144 = <— 4+ 2=
ivided by 144 = 16+ ° 1
ad=16; B'=9

Radius of the director circle r = g2 + b = 16 +9 =25

21207 +4y) - 4(F ¥ 6x) - 127 =0 g Tk et
12(+4y +28 -2 4 [P+ 6x + 31 30 = 127=0
12(y +2)' - 48 - 4(x +3)* +36 - 127 =0

8| L (04566) 221778

trhe director circle is F +y =

; b’-l“ : : R ; . o
i bep2 Length of semi-major axis = o
x Lzulﬂwflunf—mimx axis=}- ; ;

15. Divided by 180 = 2 + 2. | (X +._- o _' 0 _4_2

; 20~ 36 b’ i B

=20 ; L=36 2a¢=7.:6x— :
16.2028 ; p=2 : ?
- a=4 B=4 (@>p

a=16 .

The equation is ~——2. (x+4)1 (y 6)1 =1 - SR e S L it -
1T y=2x%c 4x‘+sy’ =3 =P+ 5

y=ntvf+c T+T=l c=x2+4

Where [m =2 [=8;=4 -c=i6

[c=c 23

18. FP+FP=2q a¢ +9y* =36

1+b!
&
23

20.724y=a"  Dividedby400=> : [ Thelocusis #+yt =g’
) 2 yi=2s B ¥ g
o @ 255 =16
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Header Page 10 of 25. Al 1. sx-2y;‘4"4‘k" 42—y =36 o9
i e St % ped 1
12(y+2)’—24(x+3)’;!139 1w 2 S | e 2B Bay)agy
2‘1: ! + ’ g I e X - L
- 13;2 "-4(1;39 5 : e . 1o g
(v+2)1 (I"'J): i [_!:.- X = i ‘ : y-m"'c p 16 . 9 s
AT ] 9 a wmrem’-a':f"z" 27.9’2ﬂn".[-;] [d=16;6=9
o A ! " f=9 ; B=36
Mg e g0 ezzwn"[-s-] : : i
o o 3l Condition ror the tangency 4) =
. - : : ‘ ‘: ¢ t"ﬂ _# : Note: The equation of Hyperbola :
voe= “? e . 4 c=tm ‘ (i) Not in the standard form
' D J—T‘ i.e.,m’+2hf}'+b}"+283+2ﬂ+c=o
|y, 13974 —2%= % |9x2=~-36 o [ 29K ~ab
JHmnz : 4 6'= tan +b
e : ~2k= £ (ii) In the standard form
; : : k=2 o - = ‘%‘“')';? - 9’2""-‘[%]
1 4 a b
W @y | ' B | e JT :
97 =2 1) e= 1+ 2= l1+—= |2 :
= 7 ; a ¥ s 28, 367252 +900=0
== | [,E . s .
o L 2 Dividec_iby900=.—;%— —=]
23. FP~FP=2a e=2 ; . s
3 2
=1+ 6 5 . 5E 8
e 1 ':, The s yinciotes aie The asymptotes of = E 1 are
3 b X Y : ]
1o] 4 — EXi s
& e o
b 7= b P Y it x :
412 fake - [FP~F'P=2a L
.. equation i--—y}-=l y=% _S_.X g
144 432 .
24. P —4(y-3)=16 Directrix i 25
$ b 2.2 Y, M 8
| 2 _ay? 2 3 a 29. PM.PM' = S g , 0)
.i 115'043) 2 [%-'{7—1 = \ / : EE : [papme VY P
syl ; 64x36 oN#
) Where /=16 X=x et TR / * \ 2 4 =0 Whered'=64 ; bl=36 M’ >
: : b1=14 -y -3 8 J S & _SLG_
et a a i
F mé -]B 5 e ~E
(6 o -
= Oni ;AneruesmnxquZMIWn\msGl ¢ Lmi 2
Lini (N566)21l77l x b4 i (04566) 221778 One Mark Questions for +2 Mathermaics
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30. xl+}} @&~ B

- HeatlerPage {mnza. i

®-Y-®y+5 =0

32.xy=3
xy=c
a?

8=—

®x+@y 5= o}

=16 = g=gq

33.x=0,y=0
y—axis x-—axis
1
34. xy=16
Vertices (¢, ¢) (~ ¢, —)

35t [c‘=18
c=3V2

-

Foci (V2c, V2c) (— V2e, —V2c) A
= (6, 6) (— 6, —6)

c’=izz-=1s=»a=5

=16 i

www.Padasalai.Net

[The locus of the point of intersection is
N ﬁs-n’ b a circle

(x=0) Y/
&
/3 X(y"‘o)

=(4.49) 4,49

b(ﬁ c5 -‘Ec)
+)
¢ (N2,

(OR)

Foci (a. a),- (-a,-a) ie.(6, 6}, (-6,~6)

=32

36. xy=32
[c=4\,§

37. AreaA=2c%
=2x72

Footer Page 11 of 25 .

latus rectum

=1

v [l =2v2e
LU =22 x4 =16

Lunt (045661 271778

e

These m.= pe.rpendiculnrs " | ICthe asymptotes are
[In L perpendiculars then its hyperbola .
: is called a R, H,
. ; 5 4
“ [c’ = % a - semi - transverse axis
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| i
-to
56

WWW.CBSEtipssin

P

38. ll'lhenonnalloﬂlek,ﬂu‘t. meesthemumu'l, then 1% 1, =1
t 2
L= Wherec"'9=¢:’3

3w b6y

V=dx =4
¥ =dax { a=1
() Axis - x-axisy=0
(i) Vertex:- v (0, 0)
(iiii) Focus:- F (a, 0) = (1, 0)
(iv) Directrix:- x=—g
i

(v) Latus rectum:- x=¢

4 x=1
(Vi)LL'=4g=4

N

Eonmencfaranan

P=—4y
P=_4ay-[4a=4
[a-l
() Axis:-y-axisx=0
(i) Vertex:- v (0,0) .
(i) Focus:- F (0, —a) = (0, -1)
(iv) Directrix:- y='a
S B
(v) Latus rectum:: y =
y=-1
(Vi)LL'=d4a=4
V=—tx
P=—dax [4«-3
a=2

() Axis:-x-axisy=0

T T -

Ui (01568) 1778

45,
ta
50,

ra

Thy %

P e
(0, —a] y=—a
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4 (ii) Vertex:- v (0, 0)
eader Pagei2eaf: 254, 0)
. =(=2,0)
(iv) Directrix:» x=g
: xe2
. x=-2=0,
3 " (v) Laws rectum:- x=—q
i x‘-z
; X x+2=0
& (Vi) LL'=4a=8

x'=day. [4g=20
x=20y [ a=5
1) Axis:y-axisx=0
(i) Vertex:- v (0, 0)
. (iif) Fous:- F (0, a)= (0, 5)
< (iv) Directrix:- y=-a

e y+5=0

v)

Latus rectum:- y=a

y=5=0
LW)LL'=4a=20

11 63. F*(1,3) .
FC=FC=1 unit

i e iy S PN,

2
2. e [_
9 4 a

Major axis: x - axis y = 0
Minor axis: y - axis x = 0

Gk
Figs
: a>b
Major axis: y - axis = x=0
Minor axis: x - axis = y=0

64.

T T S

pprect e inaelan

e e |

)

onleof ST A

e

le— 42—

<= 20p ;
L e e e
% F (O,agl.y=a
> X

ov.
R S [Blvehtenny >

N

.

v e e
A A,
PSSV

1.9 kD
Foaterbgeent2 of 25

— T

—_——
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: inor ax
Lﬂlg‘b qu 5
61.a=2: b7 B
Length of minor axis =

.
68.5=t7 a=4;b=3

7t y=tae
=+5x—
S

y=z=4

2
72.Length=-2£— =zx%n

U,,; Mo

2
73.Length=& ﬂZx-q—-:‘»
4 S

joraxis=2a=4 4
Length of myOr 880 2 :

\
Luni (04566) 271773
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“ (i 0) : 5 A
(|v) A(Ea,0)=Ct 5,0) il

75. i

- 78.
i SRS T

83. ‘(I) eBJ—l-: =J:=_ ‘

(i) ¢ (0, 0) :
(i) F (0, 2ae) =[0,:B X ﬁ]
3

. =(0,+\5)
(MA@©1a)=(0,+3)

76.) 16x*+25)% = 400
81, Pl [a=5
84,

a-l*f

i

(~2,0)

_=l

25

(l)e=|l—— Il—-—-=—
2]

(ii) F (1ae, 0)= (13, 0)

(iii) A (2a, 0) = (5, 0)

85. F(4,-6)
2. FC=F'C =4 units -

2 =3 :
W [“ ;
wid e :
92, ¢ 4

e
94, 02 9 3

.~

/ F(ae, 0)

Ao, 0)

o\

(i) transverse axis:-y axis =>x=0
conjugalc axisi-x axis = y=0
3 9 A

(i) x= i-—- e
MERER' T} e TR
Foater Pages13 of 25 e £

(~ae, 0)

5
M

F'\
h/{'
v

€|
P SOSIINECIN RS-, 4

v
v

X Eopi

Lt (04366) 21778
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(iii)x = 4ae = £ V13

Al
(W)L = MM =0 = .
7o e e

a
I o

> y=——

a } =
3. ¢= ll+—— = ‘Hm ""
e
(i) tmnsverseaxzs.. -xaxis=>y=0 Lo -Fl‘{l_) y=—ae

A

conjugate axis:-y axis =>x=0 ©,-a)
b X Tt S g
@ y=tg =ts =t :
(m)y =tae= i3x-;=:l:5 L
88. 144x1 —25y" = 3600
Divided by 3600 = X i o B
25 144 * 97, F(0,1ae)={0,+3x—
Transverse axis:- x axis = y=0 3
Conjugate axis:- y axis > x=0 =(0,+34)
3 . + =
8. 8§22 =16 o8 ‘A(_a,D) (34, 0)
..)zf__%._-, 9. y=12 -
Transverse axis:- y-axis = x = 0 = 6x+ 6x [(x.. ») =(3,-6)
Conjugate axis:- x-axis = y=0 e i e

:

9. i-_—l [i-_{:\

25 a2
a=3 b=5
. 3 v
e= '1+b— = ]+E=E ¥ )
j a 5.3
96. -“'J—-.:"i=1 a=4 : : :
16 25 b=5
centre (0, 0) :
. b
bm(msss)mm "
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104. 36x*-25=900 '
LV Mg

2536
" The combined equation of the

asymptot&s%——"éao
2

255486
3682 -25/=0

105. 24x* -8y =27
W B [a‘=

it

= =1

.0 8

[f.]eif},,-, 4]
=72 tan"! ‘3'_43—_12__‘5] :

Footer Page?§4 o 3556

= www.Padasalai.Net M CBSEHRSIN 1
] 131, nhh® 0 :
Head'erg?a]ge 114 of 25. 10, f.ty==1 ‘ _;15,‘4-7
=|=9[~y “‘ra Sl =63, % Eie
- S A
S 1 : 2 La’ o 4 -y—z- =1
B el 111, Equation of the normal ot f fl 12 0.CTC A
xty+y=2an +al e % 126 b*=3
atity+ 2aty = 2at + at? [ )= (@ 2af) ': [=6;
101, y'=3r ar—t) =25 ~1) ’

8 84 .4?:*'4!‘ [(xhyl) o (—3' l) afl(ll-‘l) (‘2+‘l)=—20(“_h) ('
3 . y=4[x-3] ; AR M cc=ud -
!  [x—y=12=0 . LR, . [ﬂ] 2+3=12 :
§ 102, 222 +57 =20 g,+-72—=-r1 “ =2\ g Xl

2o+ 5y =20 [(x,30) =2, 4) e 22 s

4x+20y =20 .

- 1,(af}, 2at,)

B103. ad-gf=2 . % : E
; 4xx -6y =24 [(xi, ) =(5,3) : niaf}, 2aty)
2 20x-18y=24 ;
<

119. Equation of the normal at/; is

xti-y=cti- S

- 1

L‘lz_l:—' ";:— = C’|x- ':_ (X, y) = (Clz, C/lz)
2 { Eiiven

B
4 2
=t )
Lty

*

134, Area of F,BF;B' = 2abe 1 driiFd
L =2x2V2x2x—=
: 2| e=|1- -
: g i
= =
2
¢l 135 QPQP=p ‘[erQ'P=p"

=4 Wherea*=136
B=4
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Header ng%ilf;eof %;3| -
== Differential Calculys. A T [ ‘]
- : the 0= L at the -3,-—
pplications I ] 9, The equation of ihe normal to the curve point T A 1
. 3 i
Part. | Part~ 11 - . 5)30 =27~ 80 b)se-m-so e)se-zmw d)yg=—
Blue J"’" |___SMarks :: rl:l.ml-tl‘lg }" y -
Prigg - |Nocof[ =" Macks| No. of | Nooof - ’ 10, The angle between the curves -- 4= =1and T- =rie 5
Qns. | Qus. Murks Q.;I: Marks| Morks It 3 : (Jun 07, Mnr 09 & Sep '11)
B 4 __ __, __. ) X
A i o e o P e e T g " . A iz :
Choose the correct answer (Multiple Choice Questions) T The angle between the eurmy=e" andy‘t""form lis (S 'IJ & darci 16
s .
2m
2 L Book Questions a)tan”' [;;—”—'—J bytan”’ [] 2 ] V{/ c)un” (m) d)tan” [ m,“)
. Th!gmdlehlofﬂlecumyn_zx)+3x+sn‘XuzIs « : i | \ -‘ sons of B ,J’-‘q-f"=nmm : .
a)-20 b)27 21 12. The parametric equations of the cusve St
- ©)-16: dy-21 Hi a)x=asm ? 9, y=acos’d byx=acos B;y=asin’ 0
- 1herate of change of area A of a circle of radius is (Sep'08) -  Qx=d'sinG;y=a cos® ; d)x=2 cos§;y=d’sin 0
8) 2nr b) 2nr Ls O m i_ d)x—— \'_3' . 13. If the normal to the curve ¥ + 32 = ” makes an angle 8 with the x —axis then the slope
3. “The velocity v of g 2 i) of the normal is SR e (Mar*11 & Mar '13) _
tyvo 9 particle i movmg along a straight line when at a distance x from the U a) = cot 9 b)tan @ ¢)-tanB - d)cot 8
origin is givenby a + by = x‘ where a and b are constants. Then the acceleranon is b o H i i
a) 2, - b) = . | 14. If the length of the diagonal of a square is increasing at the rate of 0.1 cm/sec. What is the
= ki %) _f : d) T e rate of increase of its area when the side is -i_cm? (Sep *12)
4. A spherical snowball is melting in such a way that its volume s decreasing at a sate of 2 8) 1.5 cm/sec b) 3 cm'/sec ¢) 32 emlisec d)0.15 em/sec
1 cmY/min. 'The rate at which the diameter is decreasing when the diameter is 10 cm is j’; 2 15. What is the surface area of a sphere when the volume is increasing at the same rate as ifs
- . (Mar *10, Mar?11 & June '14) radius? (.nm '06 & Mar o)
—1 % ; = o ;: £ 1
ﬂ)‘Tcmlmm b) —l- cmlmin -0 -icm/min d);—sg-cmlmin A a)l . b= c)dn -3 =
! L] o T s . 2 e <
5. The slope ofthe tangent b5 il ooy y =8 & 3 sk 2 MO 3 16 ::; what values of x is the rate of increase of;’ 27 + 3x + 8-is twice x?;wr:s, :: :;,r:f:;)
(Mar "07, Jun *08, Jun *09, Mar *12 & June'14) ' |- 1 1 1
-5 - = i e [+ -3) b [T'3] 9 [— 7.:] ) [—3-, r)
6. The slope of the normal to the curve y = 3x* at the point whose x coordinate is 2 is | 7. The radius of a cylinder is increasing at the rate of 2 cm/sec and its altitude is decreasing at
(Mar '06, Sep '051 Jun *97, Sep '09, J"” 13 & Mor '15) ; the rate of 3 em/sec. The rate of change of volume when the radius is 3 cm'and the altitude
5 l_ ¢ b) _L c) =l d) L ! is 5 cm is 3 (June *07)
; a)23n b33 )43n " @9x
7 The point on the curve y = Zr ~ 6x ~4 at which the I:mgent is parallel to the X-AXiS is .
; ‘ (Sep ’10 & June 'IS) ¢ 18. Ify = 6x -x and x increases at the rate of 5 units per second, the rate of change of slop
! = - L)
s e k :§. -7 5 —siig o 3 ZL7. whenx=3is G ; ﬂl.l.”d 13)
a) 22 ) N —2— ‘ 25 Ea 53 ) * a)-90 units/sec b) 90 units/sec c) 180 unitslsec d)-180 udits/sec -
o] -1 N (¥Tarch 08). * 19, Ifthe voluiae of an expanding cube is increasing at the rate of 4 cm’/sec then the rate of -
8. The equation of the tangent to the curve y = G the point [ 5 J Is - r ghange of surface area when the volume of the cube is 8 cubic cm is
iy BySy-dx=2 - o3x-5=2 d)3x+3p=2 a) 8 cm?fsec b) 16 cm’/sec ¢) 2 cm/sec d) 4 cm¥sec
One Mask Questions for +2 Mathemalics 74 3 Lini (04566) 221778 - : Ore Matk Questions for £2 M«l_ﬂlﬂlﬂli!l 7 ' ;
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(September '07)"
g)—cotd - b)tan@ c)-tane d)cotd
: .24 The yalue of "’ 50 that the, curvcsy= 3¢ and y= ? €™ intersect orthogonally s
3 s ] (Sep '10& Jun"11)
8-1 b1 93 L - 43

-

= besdla M&E‘y"3+4x—2?|uhepomtwhmmnumcnu
the y-axis is 9eh
a8 b)4 c) 0 -4 4
21. The Angle between the parabolas )” = x and * = at the orizin is
P ; (Jun *06, Jun 210, Mar '14 & Sep "14)
b [:;'] ' : d)—
22. For the curve x = ' cos £; y=¢'sin t the tangent une is parallel to the x-ms when ¢ is equal

to L (an12)
8)~ e

43
l) 3 tan [ 2 c) I
] .
by 90’ 07
23. Ifa normal makes an angle 8 with positive x-axis then the slope of the curve at the point
where the normal is drawn is

25 If S = =47 + 7, the velocity when the acccleratxon iszero is
- (Sep '06, Mar *07, S!p *09 & Jun '15)

)-—mlsec

26. If the velocnty ofa pamcle moving along a straight hne is directly pmpomonal to the
square of its distance from a fixed point on the line, Then its acceleration j s ptopomonal to

132 =
B) = M/sec b) ﬁ m/sec )-——mlsec

a)s b) s 05 d) 5“ (Sep '11) 5 B

27. The Rolle’s constant for the function y=2* on [-2,2)is : - ' :
2~I' ;
5Y s ¢)2 d)-2

¥
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im =18
Sl’L)'; < £)0 g
)
d-t i
£, lim ===g -
),,: &-d 40 o =
()
. : al
& lff(a)=2‘f(a)=| gty 1; 7 ()= DWen he yaloe s
a)5 b)-5 03
| i34. Which of the following function is increasing in (0, )7
11) er = b)—; : | c)_x
35 The function f{x) = - 5x+4 is increasing in
2 2) (=o; 1) b (1,4 A ) (4, )
56. The function f{x) =1 is decreasing in '
) b)(2,0) 90, .

'47. The function y = tan x — X is
i 5
a) an increasing function in [0, 2} X

B2 T
p)adecrgnsing function in [0.‘2‘} i

i e
472)’ ";

S ¢)increasing in [0, %:‘] and decreasing in ["

d) decreasing in [0, L] and increasing in | % Lt

2 M e
38. In a given semi circle of diameter 4 cm a rectangle is to be inscribed. The
the rectangle is

maximum g g

Kindly Send"l\’/"lé"Q‘U’§Wm%%i.net@gmail.com

28. The ¢’ of Lagranges Mean Value Theorem for the function flx) =5+ 2¢~ 1 ;a=0,b= | e 2)2 by 4 ¥ (March 05 & S
L5 2 (March 09, Jun 13, Sep 13 & Sep 1) o : d16 =
8)~1 by1 90 . d)— : ?9. The least possible perimeter of a rectangle of area 100 m? is g
ib 1 s X i : g
29, The value of ¢ in Rolle’s Theorem for the function j(v) = cos = on [x, 3n] is P a) 10 b) 2 (ep 07, Sep ‘08, Sep 18 ol &er_
: (Mar 06, Mar '08 & Mar '12) S c) 40 6o =4
4 n 3 i 4
a)0 b) 22 9 & d)_z_ 4 zl)fzfx) =X -dr+Son|o, 3] then the absolute maximum value is tieil
30. The value of ‘c’ of Lagranges Mean Value Theoremfor fx)=Vxwhena=1andb=4 s .f{, L b)3 c)4 d)s :
(Jun *10, Jun '11 & Sep’ls) - “ 1 he i ke 49 (Mar 10 &
a) = b)—;— g oL i1 “; concave upward for x > g W et A for s>l -
: iy ) 4 4 c)eve h ncave downward forx>0
Lin (035 @OTET : ; : Tywhere concave upw, : v
i 045 I'Page 1o OIrZo One Mark Questions for +2 Mathematics 16 ; ‘ N(Nsss)nlm sl . . d) Sverywisss o i
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)y=opd =2 st b * (Mar ‘08, Jun 09 & 59 13) B 52. Anobjmdmppedﬁom}mkyrothmhwormxn—g?(g=9smlsf;'nm
43, The point of mﬂe.xmn o)y =gt d)y=+22-3 * theacceferation of the object whent=2is
of the =yt ) 2
f ax=0 b)ﬁ;"“”" e : a,,,,, msamarry o 0)-98misec’ | 5)98mised -¢) 19.6 misec? d)- l96mlsec
i 44. The curve y = gy 4 py? : 9x=12 d) nowhere % 53, Amissile fired fromyomdlevelmesxmctresv:ﬂnllyupmrds % sscondsand
i,‘% N +¢:t+dh&snpointofmﬂmonux=lthen : x= (100 - (2.5 1). Then the maximum height reached by the missileis .  (March ‘I§)',
-§ a)a+h=0 l;i;143b - {Jun '06, Jun ‘lﬂ,][m.’l}&Ma’ '14) . a) 100'm by 150m ¢)250 m ‘d200m
H i fanbng. . d)3a+b=1 ¥ i hp = f(x) is such that * (x) » 0 asx—> x), at (x 3;.) Thenp =f(x) has a
i : . COME Book uestions TA Questions) * . bR A e . e
it 45. Let “4" be the height of the tap, : . if  a)veriical tangenty=x b) horizonia! tangent x = x;
i B o St \an Then the rate of change of pressure p ofthe tank with  Jfi ¢) vertical tangent x=x; e d m,,h] ‘3"89'“ ¥=n
)d—h' ‘b)-‘!ﬂ iy : dp. : 55. Thecurvey—f(x)mdy=g(x)cmorﬂwgonal|yxfmhepomofm
2 i ) 9 dh 8)slope of f{x) = slope of g(x} . b) slope of f{x) + slope of g(x) = 0
46, jf the temperature 8° C of the certain metal rod of "I" metres is given by c).slope of f{x)/ slope of g(x) =1 : d) [slope of f{z)] [slope of g{x)] =]
= 5 . AT .
temim:mo;ioislﬁ (; (é: 0000004 67 then the eate of change of / in miC® when the - 56. The Iaw of the mean can also be put in the form b3 (Sep *11 & Mar '14)
; xs £ . > - -~
) 0.00013 m/Ce Rl B e = - - aYflatBy=fa)-Bf@@+0h) 0<O<1 b)fa+h=fla)+hf(a+8k) 0<BE]
b) 0.00023 mIC° D) 000026 mC 4000033 mC o)f(a-+ k) =f{a) + hf*(a~ OF) o<9<1 &) fla+ B)=fla)~hf'{a~Bk) 0<B<1
47. 2 :
s followmg sl given e funcuonal ST l'Hépxtnl’s rule cannot be applied to L a5 x = 0 becanse e flx)=x+ 1 and g{x)=x +3
relntionship between distance and time of oy 3 (e 1)
a moving car in m/sec, The i 3 - :
s g car in m/sec. * :: speed of the car is ) no Gt it ‘
5 a) — m/s " b)‘;-_ m/s ‘ c) nbt in the indeterminate fonn asx—0 d) in the indeterminate form asx — 0
; )j\' 7y d)im/s » o § 4 58 If hmag(x) b and f'is continuous at x = b then
i . : %
| 48. The distance « time relauonshnp of a movmg hody isgiven by y = F(l) then the ncceleratlon Al l‘:‘ 2 8 =f (x -d g(x)J b) xl'_")' S =f (x g g(x)]
| of the body is the
1 a) gradient of the velocity/time graph b) gradient of the distance/time graph | c) x“j'a j(g(x)) =g (xl!)na j(x)] d) x‘il:‘a feCN#f [xll‘:‘a g(,)]
c) gradient of the acceleration/time graph * d)'gmdicm of the vclccity/dislhnce graph ; s >
Im kv 3 1 L/
49. The distance tnwelled by a car in *".seconds is ngcn byx= 31’ 27 + 41— 1. Then the x50 anx is (Jum *06, Mnr 08 & Sep '08)
i initial velocnly and initial acceleration iespectively are a)l b)~l AT 9o - dw
2 2 . i
! a) (4mfs, 4 m/s")  b) (4 mfs, 4 mis’) ©)(0,0) 8 (1825 ms, 23 WS)} 60, fisa real valued funotion del’mcd on an interval I R (R bemg the set of real numbers)
| 50. The angular displacement of a fly wheel i in radians is given by 8 = 9(2 2. The ume when increases.on I. Then LI
the angular acceleration zero is 2)f(n) <f(x)) whenever x; <x; x,, xnel b)/x)) 2 f{x;) wheneverx; <x; xp,x, €l
3)2.5s . b)335s c)l.5s d)d.5s : ) f{x1) $Tx) whenever x,>x; x, % €1 &) fx) > f(xy) wheneverx; > % x,x; €1
51. Food pockets were d-mpped from an helicopter during the flood and distance fallen in “” 61. Ifa real valued dlfferenhable ﬁmchon ¥ =f(x) defined on an open interval | is mcreasmg
seconds is gwen byy= e gr2 (=98 m/s ). Then the speed of the food pocket aRer it has “”;l dy ;
fallen for “2" seconds i IS . 8) . b) & Y, i b g 0 d) is 0
a) 19.6 m/s - b)9sm/s c)-19.6 m/s | d)-98ms = .
045640 20778 ‘ O Vi Questions b TV T | e o Oae Mark Questions for +2 Mathemasics 79
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< 'H_.a -IS . Ié-——-?f—-é—g""’ 74' Thg 51'mmcoﬂ’t' "s lff%’ a’m '”'J“
eader Page 0 ; o g)= A"} : ; o=
E 9 ; ive derivative, Then /18 404 then /10 . yalue theorém .+ b)Fermal’s theorem
| e fanctioh defined on an inervl | with po (und 7§ ) the extrem d) Rolle’s theorem
62. fis a differentiable a L ogingonl |, ° R ‘ ;
i Y 1 o oo /3
1 . +
. ‘strictly decreasing 017 b at AL
- ¢) strietly increasing o0 |  dn ko 75, Mentfy the flse “mmm are crtical numbers
| 63. i wyis increasin stationary ftm PR i
S sty decreasig, d) sl cressiE a) il he S ot e first derivative iszer0
) —— %) S ’ (ive just after then % . ) a the statione®¥ pO‘he first derivative need not exist
| 64, Ifthe gradient of a purve changes from positive just before ¥ to negalive] ¢ at eritical n““"bm s are stationary nurmbers
! isn . g i int ) all the critical BUM
2o : . s o) . d) discontinuous poin i ¢
&) minimum point b} maximum point <) inflexion point s ; tement
2 A : ’ (arch'16) . 76, Igentiythe cpeet 2 has logal maximum then it has absolute maximum
65. The function f(x) = has . ’ 2 contimsous function bas ; A A
i : : inimum value ot x= 0 ) 5, has local minimum then it has absolute minimum
&) & maxirum value &t x =0 ) minimum . les i) a continuous function hAs MRS
¢} finite number of meximum values 4) infinite number of maximum V& u s o has absolute maximum then - m“,m 3
i ! e ion has absolute minimum then it has local minimum
66, The function f{x) = has : , iv) a continuous function higs 85507 T S, E
* 4) absghute maximum  b) abolute minimum c) local maximum d) no\ extrema i 5) () and (D) b) (i) and (iii) c) (iii) and (v} ) m’ (i) ang v
67. 1f fhas s Yocal extremum ef'a and if {'(a) exists then . (Mar "1} L7k 7,} Ldentify the cun'ect' statements 5 (Sep "10, Mar "Basy j
g B b RN éi)j"(a)=,0 /. i) Every constant function is an increasing functfon 55 ; :
68. In the follgwing figure, the curve y = f(x) is 4 . ii) Every constant function is a d?crcasu'lg f““c‘.“_’"
a) concave upward fi) Every identity function is an increasing ﬁmc.tlon <
b) convex upward iv) Every identity function is a decreasing function - :
. ¢) changes from concavity to convexily o : a) (i), (i) and (i) ‘b (i) and (iii) c) (iii) and (iv) ) € (1) and i
) changes f ity and concavi . . 1 o . .
2 -‘-é“ wEE . oy it th ; is E 78. Which of the following statement 1s incorrect? ; (e
69, The point that separates the convex part of 2 c?nUnuous curve from the concave par{t&p i : o) il velocity means velocity at /=0
: : z : Sl i “ticdl point . b)Initial acceleration means acceleration at (=0
#) the maximum point b) the mialmum point  c) $is infiexion poist e AN § ! : c) If the motion is upward, at the makimum height, the velocity is not zero
70. fis a.twice differentiable function on an interval | and if f"(x)> 0 for all x inthe domain | 7 d) If the motion is horizontal, v= 0 when the particle comes to rest
i ; j : 59 Which of the following statements zre corvect (m; and my are slopes of two lines) (Sep
o . . . decreasi s 8 1ch O owing sta 21¢ €O my
Homeorenponnl. . 1) cx?nvex e £ s : L s d i) If the two lines are perpendicular then mym; = - 8
71. x= g is & root of even order for the equation (x) = 0'then x = %o Is "‘ g ; ii) If mmm, = =1 then the two lines are perpendicular
(dun 08, Mar '11 & J“,_"‘ " iii) If m; = m; then the two lines are parallel
D b? e Pamps 0ok pm'm . ) ifmy =~ # then the two lines are perpendicular
72, 1f x4 s the z-coordinate of the point of inflection of & curve y =/(x) then (Second derivative | m .
exists) : . 2 ) (if), (iii) and (iv) ) (i), (ii) and (iv) ¢) (iii) and (i) d) (i) and (i)
2) f(z)=0 b)f(xe)=0 | &) fx)#0 d)f"xe) #0 80. One of the conditions of Rolle's theorem is ; e (June]
71, The siztement “I / is continyous on 2 closed interval g, 5] then f atiains an absolute 8) fis defined and continuous on (a. b) b) fis differenti
. s ber ¢ and d in  B]” # . f‘s 1 _erentlnblc on [ﬂ. b].
FO:}IGE Rageﬂﬂ a@faﬂﬁs'olute miniapens value /1) M some memnes ¢ ‘ J‘E: 2 1]2) ¢)/fla) 5 ﬂ?’) d) fis differentiable on (a, b]
2) The extgeme value theorem b) Fermat’s theorem ¢} Law of Mean  d) Rolle’s theorem Kl (G566 221775 One Witk Gracsvons Toe 73 Mathenl
U s 07 Kindty Send Me Qu estmkmywmws_; Email ID: padasalai.net@gmail.com
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+ flaand b are two ropts | 3
e roots‘of a polynomial %)= 0 then Rolle"

3 HeadghR ﬁﬂ%elg:no af ;l%g'f;rl'(x) - 0

<) one root between aand b for fx)=0,

s theorem says that there exists

b) two roots between 2 and b for /139 = 0
d) two roots between a and b for /"(x)= 0

82. A real valyed function which j i i}
ich i i
exists atleast one o iy - * 15 ?O"h“""."s il [, 5} and differentiable on (a, b) then there
a) [a, b] such th = ‘
i ] st nl]'j(;l) 3 (}( ) b){a, &) such that fi(c) = 0
£) (a, 6) such 9 . = :
; : ) such that e ol - dJ(d, b) such that i(bb)—f-(ﬂ’f' (©
3. In ;he law of mean, the value of ‘9" satisfies the condition o (March 'l-’;)
B a)8>0 b)8<0 0)0<] d)0<h<1 .

, - Which of the following statements are correct?
l) Relle's theorem is & particular case of Lagranges law of mean 3
f') Lagranges jaw of mean is a particular case of generalised law of mean (Cauchy) .
1i5) Lagranges law of mean is 5 particular ¢ass of Rolle’s theorem * '

iv) Generalised law of mean is a particular case of Lagranges law of mean (Cauchy) "

angle between them is zero if
a) tan W —~tan y, = 0

I ©) tan - tan gy = -1 ‘
90. The condition for the curves a¢* + 5" = 1 and ex? + dy? = | to cut orthogonally is that

b) tan g, + tan y; = 0
d) tan ;. tan yp = |

i .

f i 3 Deletion (March '06)

! W fplel ) pielo 1
| Foqer.Bage. 19 Oh292ebt  Optemig 0m: b d
{ Lini (04566) 221778 One Mark Questions for +2 Mathematics 82
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s

i
0

a) (i, (iii) DG - e, d) @), ()
‘ 51 111 Additiorial Questions
i { 85. The luminous intensity I candela of a lamp at varying voltage V is given by /=4 x 10™ V2
Then the rate of change of light with respecto.voltage is : -
)% : b)-lﬂl 0)8x10* . d)8x10'V
86. The gradient of a curve at (1, 2) vanishes. Then a horizontal tangent at (1, 2) to the curve is
a)x=1] b)y=2 c)x=2 dy=1 .
87. Equation of the tangent to the curve y=x"at (1, 1) is (September '07)
a)y=2x-3 b)y=2¢+3 c)y=3x-2 dy=3x+2
! 88. Equation of tangent to the curve x=cos 8, y=sin 6 at 8 = % is
: a)x-—y-‘Et‘O. By x+y-V2=0 Qx-y-V2=0 ° d)-‘*)’;*'ﬁ°0
4 89. y = f(x) and’y = g(x) are two curves with respective slopes fan ; and tan . Then the

www.CBSEtips.in}
X

]
X X,

'L 91. 171he Maclaurin's series expansion for log (i + ) is 1~ -‘;4 - then
a)~-15x<] by-l<xsi cy-l<x<i ' d)-1<x<1
a 92. The expansion of tan™' x i
; Lik_ | paei.Z, AoE o ety
a)x--3— s~ Datr-ri. c)x-3 5 'dv)x‘-3 5t
{ 93. The function fx) =sinx I
R 3 g x
a) increasing on [—2-, z] bj increasing on E). 5]
Plodt) 48 i i
¢) increasing on [0, =} d) decreasing on [0, x]
1 94. The inequality sin x.<x <tan x is true for all x in -
f: 15wl 5f0.x] zx
.)[—i,cﬂ b)(o, 2] c)Elz.z} d) (%, ®) ;
95. The region of validity of the inequality log (1 +x) <xis
8) (0, x) b) (=,0) - . - Qo) - - A1)y -
1" 96. The function f{x) = cos ¥ has e
a) only finitely many maximum points 3 .
b) infinitely many maximum points and finitely many minimum points_
| ©)only finitely many minimum points ¥
d) infinitely many minimum and maximum poinis
1 97 The ﬁ:n:ﬁonj(xj =‘x’, 0<x<2has néiﬂm-nyxinm value nor minimura value because
‘ a) fis not continuous . b mge_off is open
c) the interval {0, 2) is not closed d) fis continuous
98. One of the critical numbers of ¥** (4 —x) is Deletion (Sep '06)
8)0 b)4 Cooen d)3/5
99. The stationary point of f{x) = x** (4 - x} occwrs at Deletion (Mar '07)
a) 32 B2 " o0 a4
‘100, The domain of concavity of the curvey=2 -2 is . :
8) (-, 0) b) (0, o) ; (0,x) * d) (-0, )
" 101, The Taylor’s theorem is obtained by putting b~a=hin . ¢
* &) Rolle’s theorem b) Lagranges law of mean
<) Extended law of mean d) Generalised law of mean s
102, The Maclaurin’s theorem is obtained from the extended law of méan‘by pnmng
8)a=0b=x  b)a=0,b=h Qa=xb=0 da=hb=0
T eso BIT : e ik Goetions o 2 Wadiemaies 13
- Emait ID: padasalai,net@gmail.com 3
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QNo.| Ans. |Q.No. | Ans. [@.Na.| Ans.| Q.No.| Ans. [ QNe. | Ans: Q-N‘FA"" _-—l-- ; 1 i dr - ! /
1 d 16 d | 31 b 46| na 61 b 7f _!__ 2 -——n—‘ !ﬁ :, [ﬂ] = 2’)*3"@ ‘
2 17° b |2l d | 2] a @] 7] 2 Wl WA dx ) x=2 Y
—t 5 o | AL A ;
3] c 18] a |35 a|aa|n |||l & N g
IR B BT o BT B B O T e ] ek M Differentiating =g~ """ dr 8
a y -
5| a |20 b |35] < | 50| coes|b|pofec]®i—+
e e
6 | ¢ |21| ¢ [36| b |51 ar[6s{d]|8]" e B ts »
(] e 0
7l a3zl |37 ] e | @] oo enilie | B a2 3 arpr=2.
8| b 23| s |38] b |s3|a es]afBa]|]d]Ml® Differentiating,
9 | o | BE W
9 c |-24 hif39:] & ¢ c [ 69| c | B4 ¢© ] 0+2by,7=n et
10f d 25| b lao] a]ss]a]7efa])8s)n Sl 2 ' i :
EEE L e T e % a4 i { T
2| b |27 b |42 a| 5| c || |87 ][clt®] "5 d _x e ?
3] b 28] d[43] d]|s8]b]|® 8 | b : d il -
24| aj2o ] it |en| S el 74 = TR TR "4 :v_,=_| v=";'") s =2r !
5] a |30 a [45]| 4| 60| = [ 75 talk p=2r=10 D]3
i ? : : 3 “[2 :
L B o
YAty
& K AP D
: a 7 Xz dr
n 'dD
. -l-:leOxIOxd’
b P dD 1 : :
- |2 = —— cm/min | . The diameter is'decreasing by
1 dt 50n e
i ! S; y=3c¢+3sinx
dy 2
. dx_-&x+3r.osx : 3
. o [ﬂ] =0+3 cusO=
Footer Page 20 of 25. . p : x=0 g :
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6. y=3¢
Head@E@,ge 21 of 25.
Slopeofthcnnrmnl-"%
[iz_}% x2=12 it
L2 Slope of the norma = =L
: - 12
7. yeado L5
y=2'-6x-4 Note:
dy a5t i
——=4ys = e :
. D} Tfﬂvetmgenlispanlleltod:&xuis
0=dx—6 & 2
=k 5 .

n) If the'tangent is perpendmular to the x axis

dx
dy ‘0 (or) dx =0

b e
+

-17 :
R Touching point |z, y)= { 3 , =17
202
b g '
Y ey Equation of the tangent y-j, =m(x-x)
<y 3% . 53
s : et
ﬂ'}' 3 5y+ 1=3x+3
—_— XN e~
JeEe ,
5 .
!
ms=7 2 .
i =
9. o Equation of the normal y—y; = ‘_’—”-(x = %)

(R

6+ —;—=9(1+3)

£ . &
‘ .-3.:_] : .
s 1
= Ga) Sy
Footer Page 291 of 25. v ® , ‘
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: : ' (OR)

Here 25 =9+ 8 + 8 is frue.
- » . They are perpendiculars

TyeE—m

‘.

| the curves o + b7 = | and g + byP =1

9 8
"
a ‘z’?;b";- m-%;blu‘—:—- S “l““.m‘ﬂ,ﬂu[a-ZJ
# -!...l-x-:—l— — o
B SN, e b Sl g B
a b a - p
25-9=8+3 9=
16=16 £ ‘

[ﬂfiemms %+-§= I'and -‘i--‘f—‘ 1 cut arthiogonally, “““

y=e™ — @ L SR M [ o

Solve (1) and (2), 1 i :

o dr & <

e =—mx o4

=0 [ ]x= [tij-o e
ot mEm m u,
0=tan o [betweaxtbeangleﬂ-hn",l—_b?[
9=}sn"lli”:", = Bﬂhn"[m,z'_'_'l] sincem> 1

12. Note: :

No. Curve B Parametric equations
1. | y*=4ax (Parabols) _E. x=af ;'y-w
2. %-P%ﬂ‘l(mlipse)_ GI} x=acosB ; y=bsin®

3. %--{;-myp«boxu) : 9—,—(—

x=asecB ; y=btlanb

4. | xp=c* (Rectangulsr Hyperbols)

| x=at’

Py=ot’

|- Tmesw T

3
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-$‘ xeacosd § y=asind g 16 Let y=x'- 7-"*”"” dr
Heafer%gﬁfmffw‘és : PRNINEY S 4,”)__.27
o A A Y g . $ 3 ¢ .
(Astroid (or) Acusked Hypocycloid) x-?ﬂ)” 0‘3 y-ﬂlill i- [ 3]_4‘4‘1_0 : ba l'-;-_

2 Yeryavs ; . 0 Bt (-1 0z-1)=0

. X = ™ - n

: y=Ya x=acos 0 ; y=asin .

R ot 5] “hE

-nf-—-'!'llZf
s [d' .

13. ¥fany | heth \ L.3; k=5
llwa);slg:\(ew "“"‘Mﬂmlormn:\al) mkunnmgleewamxaxu.lhcnhsslowu 5 35 h 51[9(_3)_’“ 5x3x2]'33"m &
%’331{(:“!’ 5
¥ ‘8.’y“61-}) Tdi_"_'..o' 615:- ':‘ x=3
LS 4 = &
# dx 6-37 » () =—6x3x5=-90 dt i
m=6-3¢ am o 90 units 5! . g
> dt < 1
v —
d 3 15 3 19. -‘-ﬂ—=+4 v=§ v : ! »
, — = . I — Bes =4 dv da
14.—-(AO)=01 - ; x 5 i ; a: 28_ e
—5-(‘5*),‘0-1 AreaA=x - AC’=AB’+BC' (S) Surface Area =6a° - 4=3¥4x% .
G *dA SRR b et S 1o SR VR a5 _ ¢ 3ada T it e
(R 1 i a e AC=2x 5 o dt : dt 3 <
ax_o1] | S e e S ' 2%+
—= ey 5 iy o =12x x3
dr 5 h 2 - i :
) ds 8 cm? s £
A F; B4 T e h
e 2 “ff 20, 1fthe curve cuts the y-axis x=0 = y=8+dx-2u’
s B y=4+ar-27 y=8+0-0=8 .. Point (x,y)=(0,8)
| 'd‘y‘ﬂ‘? 4x i 3
TR A S —4(1 )=4(1- 0)
‘;' 4‘” g . | Surface area = dnr* : :
ik _,,,J]= L ; : :
dt {3 dar - VolumeV=-§-m’ - :
& { A bty 2w < m; g
.5_1t3r’—dL= & i - ; al; =y I 8 =tan™ P ‘
dedt Y 4 ; 2y51 '] N 1 +imy, m; +
Y P de & 0= tan™ () /
Footer Page-22 of 25. _ , ot Y
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22. x=e'cost

4 Y=e'sins
o (s : -—-dy
= (-5in ) +cos re = e’eosi+smle i i,
nftld[
Efae'(COSt-Sinl) L/ =el(cos 1 + 5 e
| d o in £) cosl—sinl

Ifthe tangent pmllel to the x axjs £

=== s g
€S ¢4 sin ¢
o =
cosr-smt 0
Cosrtsins=q
eosr-—smt =
sing - |

23 Siope of the tangent — | e

m tan@

,»l.‘.‘ Slape of the curve =—cot § l ;

4. ymif

If the curves cut orthogonally m X rsy = ~1
3!‘)([?]?"’—!
? a=1
25. 5=r~-42+7 a=0=6-8§=0
-, - R
ey kg gt !

3

a-0=v=31'—81-3x-14‘-—8x
-16

~1
VS e .8
3

. d’s
2 == G
a ” 6 8

26. vr:r:.s2 :v-kf’ (% - constant)

F‘60ter F’aqe 23 of 25.
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v " ¥ 3 = f * ;
Lipwsy | |a-

Sy ok ["‘ " g

Ca=iRS = [!L-a = [a=s] - -

a+b
ust be
27, lfmeyvenﬁmcuonlanuadmkhlchoﬂ then the value of c m

-

pomgrp sl .

G : ?
oeiag f(c)-oa-'-’-’.i“['g']so-

29.j(x)-008—2' CARE So g 5. '

; nleap 4
_f'(x)---_l-. sm[—;—] o
~c
] -1 c —=nx . [{sn@=0=08=nx
f(c)n—i— sm[z] §=2m: ; e
' n=0, 1_2,3_._..‘: =0, 2m, 4, 61, ...
[alewm ' :
)= . Bl
30. f@) ="k =D & P JO-f@ Lo-1@
f'(:)=+r_ JO=O=2 Sy g 7
i 2% 3 -
fon 2’1— 11c-=‘§"= c=—9- e(l,4)
& 2~ i
Lt in Le & .—fom
X3wg x>0 &
- Lo AlnRid oy -
X3 . o .o
Lt d-b "L -d.doga-¥.logh _loga-logh |log(a) | -
"x—>0 c' d x>0 ¢, logc-d'.logd  logc—logd | log (cld)
33. fla)= 2 S@=1; glay=-1; 2'@=2
Lt g(x)f(a)~ —&@/x) Lt f(a)g’(x)-g(a)f'(X)

X~ra X—a “x>a e g SR ] S
=f(a).g (a)—g(a) -f'a) : :
~2x2- (-l)xl-E] : ;
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' 34. % ¢ (0, ) .
JHeader page
Sx) e e

=+ve>0
- For all values
of x in (0, »)

»  increasing function

1 dassmenhal
VWVWW .Pauaaalal.l\lcl

41‘?:3 23. T =5
y % 1) =-2x ) ==2%
f'(x)"-—x:' =.-pe <0 e u.j?-

."‘V¢<9 =-ye<0 .

decreasing function | decreasing function | decreasing function

’ T g

Ww.CBSEHPSf=0-~0+5=5
o, sy =243 ?).u-pz=ﬂ2)=4-“5=l
3 f(’).l(z)x_"l‘?; 4=0 iﬁ)ﬁx’3=ﬂ3)=9—.lz+s-2
s e 2 :
¢ 1) s

? " [ sbsoie maximem value =5 |

Al = _,
o=
i i

&

Another method:
- 3 e' =y -
01 )

<«

y==

From these diagrams increasing function at (0', ) is " only.

35. f()=x'-5x+4
fx)=2x~5

- 2

)

=-—ye

ARl

- :
42 S =~
e f‘(x) =dx

43, f) =+

o=zt ws

[for all values of x

Hence, f(x} is concave downward

<

»

I.r f""(x) > 0 (concave upward)
1 £''(x) < O (concave downward)

Substitute the answer in FAEIN : -,

i) In(~0,.1) x=0 ?j‘(x)=0—-5=-ve<0 S
i)In(l,d) x=2 = f(x)=4-5=-ve<0

iii) In (4, ®) x=5 = [(x)=10-5=+ve>0

increasin&in : =i o R

36. f(x)=x . s ; :
y= x* \ \ 7 A decreasing in (—, 0)
: -5 0‘ = - increasing in (0, ©) .
37. f(x)=tanx—x : r
D= sec’x — 1 ¢
¢ =tan’x “2 {1 +tan’ 8 =sec’ © i
=+ve>0 5
In (0, | increasing function.
; 2 . :
38. r=2cm Areca A=r

& = 2 T R
% -—r"-—-> cm " —4cm

39. Note: All the rectangles with a given area the one with smallest périmeter is a square. ]
; = ; A 3
) A=100 .
=100 5> a=10_ [G=dm]
Footer Page 24 of 25.

- i) at (<o, 0) /"(x) = +ve >0
ff"((i));:il 3 [n) at (0, ) f(x) = +ve >0
fim=0 =122’=0

O lx=0

>, The point of inflexion is no where. ;
6ax+2b=0 ' g
'@ =3ax’+2bx+c . 6a+2b=0 v fatx=1
) =6ax+ 2

If it has a point of inflexion j "'(x) = 0

. 46, [=1+0.00005 8 + 0.0000004 67

% =0,00005 + 0.0000008 8

44. y;=ax’+bx=+cx+d

= 0.00013 m °C” ; : t
displacement
time:

dl :
= = 0.00005 + 0.00008
[dﬂ]e =100°C :

1 47. Velocity =

X
+ V=Tms"

Lini (04566) 221778
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T x=3-2P+
Heﬂdﬁ\rPﬁgg 25 off 28) =0 lmtnlveloclly ‘
d—:,- 181-:1 -ii)_ l‘O::initialnccelemi;r'i
it a=(=4 4 ’,
50. 8=97-27 :

3
]

= angular velocity

ab
@= === 18- 6 @
& ~> angularacceleration |

) 1

g : |
nc=0$>18-12{=0~ :
; 3
===
7" I.5s
1 = i
51, p= == : 5
yeyer ; ' :
dy z
ve 2 _ &
dr g kAL
=98¢ v[g=938

]
.-I Oy

oy T

QW=

a g

(For any time)

S

53 x=1000=12.5 ¢ . X Y .k i Ix=0= po)20

de
kg

Al a maximum height V=0 =
10025 r- 0

100-25¢

7

Foot%% f 25.

i increasing ﬁ.mcuon}
| :Ul\l (04566)22”15
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=)
. [ —o
IR i
tanf=w  [m=tan
6=90° [The tarigent maks anangle 8 with x-axis
»'« Vertical tangent at x = x;

6] 7+ hy=f@) + h '@+ 0m))| 5

Lt x+1 0+| F
‘x=0 x+3 0+3 3
(notil'n.h'e indeterminate form as x — 0)

=0

0<0<1

58.By ﬁing composite Function Theorem

M?

xX=>a

; x—’llj‘g(x»af[

62. '(x)> 0 (strictly increasing function)

Example:
xi <x; (5ay)
. =1<5 S =f-1y=-1
. ) =f5) =125
IEx) <xy =" fixy) <flxy)
-1<125
Hence, flx) is smctly increasing in R.

Note:
f) =5 “" | R - real numbers ’ 2 '
fx)=32 For all values of x (+ve, -ve, 0)

) Ifx=2@ve)= fx)= 12>0
i) Ifx=] (~ve)= f(x)=3>0

It shows to be a increasing function not stnctly increasing

[From this, If f{x) s strictly i mcreasmg, J'(x) is'not strictly positive (> 0) Ifand only |f '
is not true].

Result:- (concept)
L D> 03 ) isa strictly increasing funehon It i is true
Iff(x) is a strictly T (x)>0 is not true.

S (x) 20 (may be) .
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